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1. (13 4)When a certain wave of General Social Survey asked, “would you be willing to pay much higher taxes in order to
protect the environment?” (variable GRNTAXES), 369 people answered yes and 483 answered no. Software shows the
following results to analyze whether a majority (or minority) of Americans would answer yes:

Test of proportion=0.5 vs Not=0.5

N Sample proportion | 95% CI Z-value | P-Value
852 |0.4331 (0.400, 0.466) | -3.91 | 0.000

1.1.Specify the null and alternative hypotheses ( & & #2432 /83% ) that are tested. (2 %)

1.2.Report and interpret (32#%) the test statistic value (RZ#HITE) .4 %)

1.3.Report and interpret the P-value as a probability. (2 %)

1.4.Explain an advantage of the confidence interval shown over the significance test. (3 %)

1.5.Based on the result of the significance test, conclude your finding regarding Americans’
attitudes toward taxes and environment protection. (2 %)

2. (17 %) In the UN Human Development Report, one variable measured was x= percentage of adults who use contraceptive
methods (# 2 3 %). The attached TABLE 2 shows part of a printout for a regression analysis using y=fertility (mean number
of children per adult woman), for 22 nations listed in that report). For those nations x had a mean of 60.0 and standard
deviation of 20.6. ~

2.1.State a research question that could be addressed with this output (Table 2). (2 4*)

2.2.What is the unit of analysis (447 $.4i) in this study? (2 %)

2.3.Report the prediction regression equation and find the predicted fertility when (a) x=0, (b) x=100.
4 %)

2.4.Find and interpret the correlation coefficient (r) and R% (4 &%)

2.5.Find and interpret the standard error of the estimate. (2 %*)

2.6.What do your analyses say about the question you stated in 2.1? (3 %4*)

TABLE 2

Predictor Coef SE t Sig
Constant 6.6633 0.4771 13.97 0.000
CONTRACEPTIVE -0.064843 0.007539 -8.60 0.000
SOURCE Sum of Squares df

Regression 37.505 1

Residual Error 10.138 20

Total 47.644 21
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